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Question Number : 1 Question Id : 7715134616 Question Type : MCQ Option Snurriing : NO
Correct Marks : 1 Wrong Marks : 0.33000001311302185

WS o5 WA 350 § & URaie & JUR & [T 9ed &1 AR ....... Bl
Bl

To improve the beam steering capability in phased array ultrasonic probe, the size of the
element shall be...

a. 9al/Increased
b. Bfel/Decreased

¢. TeB & IR W Ebalﬁ MG el/No effect on size of element

d. W& ¥ ¥ BI5 "el/None of the above

Options:
1.a
2.b
3.C
4.d

Question Number : 1 Question Id : 7715134616 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

WUEE g WY 3<% ¥ &g URaeH @ QURA & oL 92 @ 3aR ....... Ml
el

To improve the beam steering capability in phased array ultrasonic probe, the size of the
element shall be...

a. 93l/Increased
b. Bfel/Decreased

¢. 9o® & IR | Eb’lﬁ WG g1/ No effect on size of element
d. Gﬂ’iﬂﬁ I ¥ ®I Tel/None of the above

Options :
1.a
2.b
3.C
4.d

Question Number : 2 Question Id : 7715134617 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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IOLWl. &°d ¥ % T 7kW & faegd g @l 2 firfe & fou g o o o 81 98
FART P gU e T fogmd Sl @1 gmm o @ ™ e F T W 9§, 59
AU (°C) 1 4 @1 e B od & S &l 4.2 kIkgK §I

A 7KW electrical heater with 10 L capacity is switched on for 2 minutes. Calculate the increase
in water temperature (°C) by assuming all the electrical energy is used for heating the water, Heat
capacity (Cp) of water is 4.2 kl/kg K.

a. 15 b. 25 c. 30 d. 20

Options:
1.a
2.b
3.c
4.d

Question Number : 2 Question Id : 7715134617 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

0L, &5al ¥ 9 T 7kW & fagqd gl @l 2 e & fau g oo far ol ¢ 48
AT % 50 5 o e oo @1 Smm wrt @ 9 & R e e 8, v
dUaH (°C) @ S BT Sfbed B I Bl S &H 4.2 kikg K B

A 7kW electrical heater with 10 L capacity is switched on for 2 minutes. Calculate the increase
in water temperature (°C) by assuming all the electrical energy is used for heating the water. Heat
capacity (Cp) of water is 4.2 kI/kg K.

a. 15 b. 25 ¢. 30 d. 20

Options :
1.a
2.b
3.C
4.d
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Question Number : 3 Question Id : 7715134618 Question Type : MCQ Option Snurriing : NO
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fofafed & € oF-u1 iR 9 & fou Sfd 968 2

Which of the following is not suitable for displacement measurement?

a. P URGdl fdRIGA TRSTER/Linear variable displacement transducer
b. @i Ufdfdd WgHdeH,/Digital image correlation
c. Wl AdEIAL/ Speckle interferometry
d. VPRI Photoelasticity
Options :
1.a
2.b
3.C
4.d

Question Number : 3 Question Id : 7715134618 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

FofafEd 3 ¥ oH-91 o 99 & e Sfa 98 &

Which of the following is not suitable for displacement measurement?

a. 9P URGdl faRIGA TSR/ Linear variable displacement transducer
b. @M Ufdfdg WgYde,/ Digital image correlation
c. Wdhd BRI/ Speckle interferometry
d. VUDRYIRYA/Photoelasticity
Options:
1.a
2.b
3.C
4.d

Question Number : 4 Question Id : 7715134619 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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What is the permissible leakage radiation level per hour for low energy X-ray machines?

a. 1pSv
b. 5uSv
c. 10puSv
d. 50 uSv
Options:
1.a

2.b

3.c

4.d

Question Number : 4 Question Id : 7715134619 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

g 3oty 7 & fou ofe der oma fam fafev R B g

What is the permissible leakage radiation level per hour for low energy X-ray machines?

a. 1pSv
b. 5uSv
c. 10puSv
d. 50 uSv
Options :

1.a

2.b

3.C

4.d

Question Number : 5 Question Id : 7715134620 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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Peferl CT d@-id H, UF @Y oRdmT ... aR T B
In helical CT technique, “pitch’ is defined by;

a. 360 fg ol fxue fowR & gftfar fa
Turn table movement in 360 degrees per beam width
b. 360 el ufd fewvny fawR § oféda s
Article dose in 360 degrees per beam width

c. Wid fRuyd fawR ¥ R Wy qern
Reconstructed slice thickness per beam width

d. W7 3y & #A H T oW

Gantry angle with respect to scan axis

Options :
1.a
2.b
3.c
4.d

Question Number : 5 Question Id : 7715134620 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Peferl CT d@-id H, UF @Y oRdmT ... aR T §;
In helical CT technique, “pitch’ is defined by;

a. 360 fe ufa fovud fowR & gitier Tfd
Turn table movement in 360 degrees per beam width
b. 360 el ufd fewvny fawR § oféda s
Article dose in 360 degrees per beam width

c. Wid fRuyd fawR ¥ R Wy qern
Reconstructed slice thickness per beam width

d. W7 3y & #A H T oW

Gantry angle with respect to scan axis

Options :
1.a
2.b
3.c
4.d

Question Number : 6 Question Id : 7715134621 Question Type : MCQ Option Shuffling : No
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Correct Marks : 1 Wrong Marks : 0.33000001311302185

it e caisd s & W gdg @1 fawvn o |, QT & Hoidg & 9 e
Uebg! 909 U QI TE A ... I g

In analysing the fracture surface of a failed airplane turbine blade, concentric rings around
the origin of the fracture were observed. This pattern suggests:

a. W faHT/Brittle fracture
b. T4 fa¥/Ductile fracture
c. 4ifd fa/Fatigue failure

d. W@ H ¥ Bi3 T5l/None of above
Options:
1.a
2.b
3.c
4.d

Question Number : 6 Question Id : 7715134621 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fAwfitn TRwH <afzd s & fum dde @1 fowww o R, faHm & fufdg & arf @R
obg! 909 T QI TG T ... I

In analysing the fracture surface of a failed airplane turbine blade, concentric rings around
the origin of the fracture were observed. This pattern suggests:

YR fq¥7/Brittle fracture
a7 fa4T/Ductile fracture
yifd {4/ Fatigue failure

GW;'IHH i Eﬁl’aF Tgl/None of above

Options :

e o o o®

1.a
2.b
3.c
4.d

Question Number : 7 Question Id : 7715134622 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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U6 TOFD Ufafds Fefifed f6g UTH & 999 32

A TOFD image is similar to which of the following UT scans;

a. A-Scan
Options :
1.a
2.b
3.C
4.d

b. B—scan

¢. P—Scan d. C—scan

GET IT ON
Google Play

Question Number : 7 Question Id : 7715134622 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U6 TOFD Ufafds Fefifed f6g UTH & 999 32

A TOFD image is similar to which of the following UT scans;

a. A-Scan
Options :
1.a
2.b
3.c
4.d

b. B—scan

¢. P—Scan d. C—scan

Question Number : 8 Question Id : 7715134623 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

feforea Yeamm! § Gge ®ic &, ...........

T TG P g B gl

Detective quantum efficiency in digital radiography indicates overall aspects of image
quality which takes info consideration of;

a. HT§E’F| 3R T,/ Modulation transfer function
b. T Ml Detection sensitivity

¢. ¥4/Noise

d. Wi Ti/All the above

Options :
1.a
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2.b
3.C
4.d

Question Number : 8 Question Id : 7715134623 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fefea Yeumm! & UgE ®icd &, ........... R @R &d gU vfifds o &
T Teqed @ giid ol 8l

Detective quantum efficiency in digital radiography indicates overall aspects of image
quality which takes info consideration of;

a. Hulgi'l:l AT YHM/Modulation transfer function

b. TYIT I/ Detection sensitivity
c. 4/Noise

d. Juda wt/All the above

Options :
1.a
2.b
3.cC
4.d

Question Number : 9 Question Id : 7715134624 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

3fdde e & FEGRI HSid ......... B

Working principle of penetration testing is;

a. ®Ucl Uidishdl/Capillary reaction
b. g &1 UA/Newtons law
c. Hd @& FEH/Snell’s law
d. Gﬂﬁfﬁ g ﬁ Fgl/None of the above
Options :
1.a
2.b
3.C

4.d


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

Question Number : 9 Question Id : 7715134624 Question Type : MCQ Option Snurriing : NO
Correct Marks : 1 Wrong Marks : 0.33000001311302185

3AqdTH T & e S .. ... ... Bl

Working principle of penetration testing is;

a. IUasl Wldfshal/Capillary reaction
b. ed @ TH/Newtons law
c. Hd &1 FEH/Snell’s law
d. G'CI"{IHH d ¥ @3 -ol/None of the above
Options :
1.a
2.b
3.C
4.d

Question Number : 10 Question Id : 7715134625 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e woAw |, Fgfoied TR oFaRa e & a0 ¥ 94 @

In film processing, the following chemicals prevents the reduction of unexposed crystals;

2. BIESIagAH/Hydroquinone b. TIeTRGH SIS,/ Potassium bromide
c. TqeicseRe/Glutaraldehyde d. BHEH/Phenidone

Options :
1.a
2.b
3.c
4.d

Question Number : 10 Question Id : 7715134625 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e vopu #, Fafcied WA sFaRd fotedl & e ¥ o 3

In film processing, the following chemicals prevents the reduction of unexposed crystals;

a. TI3gIdgdH/Hydroquinone b. WIETEH §iFT3S/Potassium bromide
c. WNIeEEES/ Glutaraldehyde d. BSH/Phenidone

Options :
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1.a
2.b
3.c
4.d

Question Number : 11 Question Id : 7715134626 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TR, FEfed § ¥ oH-9 A8eqe 5 YR G REd &) g

Which of the following, in general, assures no ringing in an output?

a. U9 YYRU % URS fec¥/A simple low pass filter

b. SX®Y 9 UR® flheek/Butterforth low pass filter

c. MUl 9 URG et/ Gaussian low pass filter

d. Swad @t e &1 Wi fa1 o §dhal 8/All of the above filters can be used

Options:
1.a
2.b
3.¢
4.d

Question Number : 11 Question Id : 7715134626 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

g, ol § 3 oH-11 okere fhdl WeR e gHT &R g2

Which of the following, in general, assures no ringing in an output?

U% WRY 9 URS e/ A simple low pass filter
. g% 9 UR® feer/Butterforth low pass filter
TSYl 19 RS fheet/ Gaussian low pass filter

. I9gad T eyl @1 W fh S Uhdl 8/All of the above filters can be used

Options :

o o o o

1.a
2.b
3.cC
4.d

Question Number : 12 Question Id : 7715134627 Question Type : MCQ Option Shuffling : No
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Correct Marks : 1 Wrong Marks : 0.33000001311302185

el @ o ol ver & sfex WD Eidl § Sl & §d Aigd GRI & gliee/ e
T Jaed B &, 1 O Saed ofte & ... |

The class of phenomena whereby transient stress/displacement waves are generated by the
rapid release of energy from localized sources within a material, or the transient waves so

generated.
a. fdqgd 4999 IRUI/Electromagnetic induction
b. @Hd! UM/ Acoustic Attenuation
c. @HG! I/ Acoustic emission
d. f95gd de@m fowW/Electromagnetic diffusion
Options :
1.a
2.b
3.C
4.d

Question Number : 12 Question Id : 7715134627 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ge &1 1 R Ue & SR WG Al ¥ Fell & gd Al gRI e e/ G
U Jded qd §, @ U8 Saed afe w@ ... |

The class of phenomena whereby transient stress/displacement waves are generated by the
rapid release of energy from localized sources within a material, or the transient waves so

generated.
a. [dggd Ja@id IRU/Electromagnetic induction
b. @@l &M/ Acoustic Attenuation
c. M@ IHuH/Acoustic emission
d. f9qgd dedm fawu/Electromagnetic diffusion
Options :
1.a
2.b
3.C
4.d

Question Number : 13 Question Id : 7715134628 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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e & sNag d, Ut 3@ ffd 9 % e AW @ Wi §, U ol ¢

In the S-N curve of a material, if the curve becomes horizontal after a certain point, this
implies:

a. Ue @ @l 4fd 91 987 8/ The material has no fatigue limit
b. Uer 3 4 WA TF UG 1 8/ The material has reached its fatigue limit
c. UG HH WY SRW ®I ¥l §/The material exhibits only elastic behaviour
d. werd ¥z oFWUNT & foU Ifad §/The material is ideal for impact applications
Options:
1.a
2.b
3.C
4.d

Question Number : 13 Question Id : 7715134628 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Y & SN H, It 7% g oW § ¢ 8w © 9 g, W ouia @

In the S-N curve of a material, if the curve becomes horizontal after a certain point, this
implies:

Uer @ dfs 4fd WA T §/The material has no fatigue limit

yerd 3wl 4fd €A 9@ Ugd @1 §/The material has reached its fatigue limit
U AE TR R & gl %/ The material exhibits only elastic behaviour
yerd WaT WM & U Sfd 8/ The material is ideal for impact applications

Options :

a
b.
c.
d

1.a
2.b
3.c
4.d

Question Number : 14 Question Id : 7715134629 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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e Ufdfds @1 d60 9 & fou, ufids & e veE | Fefofed § © oF-9 e
o T §2

To sharpen an image, which operation in the following is done in spatial domain of image?

a. H#/Median

b. 3G/ Average

c. 3ddcH,/ Differentiation
d. THHW/ Integration

Options :
1.a
2.b
3.c
4.d

Question Number : 14 Question Id : 7715134629 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U@ Ufifds @ den 9 @ fou, ufoes & wiRe ueE § e § ¥ oR-9 W
T 9 22

To sharpen an image, which operation in the following is done in spatial domain of image?

a. H&/Median

b. 3G/ Average

c. dddcH,/ Differentiation
d. TP/ Integration

Options :
1.a
2.b
3.c
4.d

Question Number : 15 Question Id : 7715134630 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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des & WY 30 H. A T @ fafew FRIgT & & faU, 2-2T R @ i o

o WHAIQL ...... gl
For radiography inspection of 30mm thick plate with weld, the IQIs selected for assessing
2-2T quality.

a. ASTM f&% UOR 25 Ud d@H® 10 & §Y¥ dRR YR SET-B
ASTM hole type 25 and wire type SET-B with identity 10

b. ASTM f&% W@R 40 Ud 7@ 10 & §Y TR YR SET-B
ASTM hole type 40 and Wire type SET-B with identity 10

c. ASTM &% &R 25/ASTM hole type 25

d. ASTM &% &R 40/ASTM hole type 40

Options:
1.a
2.b
3.C
4.d

Question Number : 15 Question Id : 7715134630 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

dw & 9 30f. M. A e @i fafevw g $ & A, 2-27 0 B Gediod He

20 WHAIQ ...... gl
For radiography inspection of 30mm thick plate with weld, the IQIs selected for assessing
2-2T quality.

a. ASTM f&% WOR 25 U4 d99@ 10 & U IR UPR SET-B
ASTM hole type 25 and wire type SET-B with identity 10

b. ASTM f&% WOR 40 Ud T8HF 10 & ¥ dRR UPR SET-B
ASTM hole type 40 and Wire type SET-B with identity 10

c. ASTM f@% WOR 25/ASTM hole type 25

d. ASTM f&% WOR 40/ASTM hole type 40

Options :
1.a
2.b
3.C
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4.d

Question Number : 16 Question Id : 7715134631 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Uh W @l 250°C W 300 kPa W, 390 U 9 & 1/20 § IehHuild T4 Joadiy &y
o hfed o o &l U T PR (W)W Ra (Ra @l 9 A 89 & Ui LA
H 3fidvd Sl (5U) & URGdH @1 Udl @l

A fluid at 250°C and 300 kPa is compressed reversibly and isothermally to 1/20th of its

original volume. Find the work done (W) and change in internal energy (6U) per kg of fluid
(assume fluid is air)

[In(0.05) =-2.99, In(0.1)=-2.3, In(1.1)=0.095, In(1.2) = 0.182]

a. W=-450KJ, 6U=0KJ b. W=-450KJ, 6U=450K]J
c. W=0KJ, oU=450KJ d. W=300KJ,oU=0KJ
Options:
1.a
2.b
3.c
4.d

Question Number : 16 Question Id : 7715134631 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Th W @l 250°C W 300 kPa R, 390 4o T & 1/20 § IohHUIE Td JHAd &Y
o ddifeq foar o &1 U T PR (W)W R (Ra @ 9 GHd 89 & Ui .
H 3fid® Feil (5U) P uRadd 1 Udl T

A fluid at 250°C and 300 kPa is compressed reversibly and isothermally to 1/20th of its

original volume. Find the work done (W) and change in internal energy (6U) per kg of fluid
(assume fluid is air)

[In(0.05) = -2.99, In(0.1)=-2.3, In(1.1) = 0.095, In(1.2) = 0.182]

a. W=-450KJ, 6U=0KJ b. W=-450KJ, 0U=450K]J
c. W=0KIJ, 6U=450KJ d. W=300KJ,oU=0KJ
Options :

1.a
2.b
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3.C
4.d

Question Number : 17 Question Id : 7715134632 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fefored fo 4, 9 Wha fde MW ... B ECRZGIN

In a Digital image, gray scale bit depth determines;

a. [U99d MBR/Pixel size
b. fie9q U@/ Pixel pitch
c. W e B oI Ol Ww fbu o Tadl §

Number of gray shades that can be achieved
d. o fase/Image resolution

Options:
1.a
2.b
3.c
4.d

Question Number : 17 Question Id : 7715134632 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

feforea o #, 7 @d foe T3s ...... gfid $d &

In a Digital image, gray scale bit depth determines;

a. fUogd MBR/Pixel size
b. fiewa fod/Pixel pitch
c. W WE B oI Ol W fbu o Taal §

Number of gray shades that can be achieved
d. o fade/Image resolution

Options :
1.a
2.b
3.c
4.d

Question Number : 18 Question Id : 7715134633 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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40 & U Fd 4 128 mR/hr P RGO dod I BT g1 g Bl G 2 mR/hw
& & U HVL 559 &1 6o dagd e gt

A source of radiation has created a radiation intensity of 128 mR/hr. How much shielding
material with a HVL of .5 inch, is required to reduce the intensity to 2 mR/hr?

a. 33d/inches b. 0.3 3d/inches
c. 63d/inches d. 93d/inches
Options :
1.a
2.b
3.c
4.d

Question Number : 18 Question Id : 7715134633 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fafew & @@ a7 128 mR/Ar P R0 gl I BT g1 Aol Bl T 2 mR/r
&% & [ HVL 539 &1 6o Haad Gerd il

A source of radiation has created a radiation intensity of 128 mR/hr. How much shielding
material with a HVL of .5 inch, is required to reduce the intensity to 2 mR/hr?

a. 33d/inches b. 0.33d/inches
c. 63d/inches d. 93d/inches
Options :
1.a
2.b
3.cC
4.d

Question Number : 19 Question Id : 7715134634 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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feforea Yeammt ufofda o o sh@ryy w0 & e o @ fou Fefefed F @
g FURW &1 SuE foa 9 &2

Which of the following transformation is used to resolve the dark features captured in Digital
radiographic image?

a. Edrd &R/ Histogram Specification
b. UM M URGcH/Power-law Transform
c. QYN UNGcH/Gaussian Transform

d. TI@Ed URadH/ Laplacian Transform

Options:
1.a
2.b
3.C
4.d

Question Number : 19 Question Id : 7715134634 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fefoed Yl ufdfda & o sjudryy w01 & FRE0 o & fou Fofafed & 9
g TR &1 ST {6 91 &2

Which of the following transformation is used to resolve the dark features captured in Digital
radiographic image?

a. SfdRE fdFe/Histogram Specification
b. U M uRGcH/Power-law Transform
¢. T3UY UREdH/Gaussian Transform

d. i@ URddH/Laplacian Transform

Options :
1.a
2.b
3.C
4.d

Question Number : 20 Question Id : 7715134635 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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U ot 71 W vieed & B-owfn Rl ¥ oW & fou Fofofe 8 ¥ o-w oA #e

Which of the following is suitable to measure the biaxial state of stress on a given material
specimen?

. faopfd Ivie/Strain rosette

dq WId! fapfd WA/ Fiber optic strain gauge
. GuiqfgAdl/Extensometer

: GTPjﬂH i Eﬁﬁ Tel/None of the above

Options :

1.a
2.b
3.¢C
4.d

Question Number : 20 Question Id : 7715134635 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e et T W vfiew & f-oefn Ry & A & fig Feffee 3 3 on-a ot 3

Which of the following is suitable to measure the biaxial state of stress on a given material
specimen?

a. Ta@id vie/Strain rosette

b. og VI fapid HHII/Fiber optic strain gauge
c. CUIqiGATl/Extensometer

d. SWE H U Pr3 78I/None of the above

Options :
1.a
2.b
3.cC
4.d

Question Number : 21 Question Id : 7715134636 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Nd: YAG TR &I @1 ¢& fal 82
What is the wave length of Nd: YAG laser?

a. 10.6um b. 0.106 pm c. 1.06 um d. 106 um
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Options:
1.a
2.b
3.c
4.d

Question Number : 21 Question Id : 7715134636 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Nd: YAG TR &I @1 &&f fbal 82
What is the wave length of Nd: YAG laser?

a. 10.6um b. 0.106 um c. 1.06 um d. 106 um
Options :
1.a
2.b
3.c
4.d

Question Number : 22 Question Id : 7715134637 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

10 Terdl H Hed Ayl Bl § S e ®1 3R 7@ Bl ©:

Creep is most significant in materials when subjected to:

Jod dgHH Ud 19 Ufded/High temperatures and low stresses
g aAE ud P9 Ufded/Low temperatures and low stresses

Jod diY9H Ud 3= Ufdad/High temperatures and high stresses
9 dUHH U4 3= Ufded/Low temperatures and high stresses

/e 0 o @

Options :
1.a
2.b
3.c
4.d

Question Number : 22 Question Id : 7715134637 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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1T Tl H FeY Head ol Bl & O ...l @1 3R IHE Tl E:

Creep is most significant in materials when subjected to:

Jo d9HH Ud 9 Ufded/High temperatures and low stresses
8 dHH U4 9 Ufded/Low temperatures and low stresses

Jo dIUAF Ud 3= Ufded/High temperatures and high stresses
{9 9UAE Ud 3= Ufded/Low temperatures and high stresses

/e o o @

Options:
1.a
2.b
3.C
4.d

Question Number : 23 Question Id : 7715134638 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Irad is equal to....

a. 0.0lTkg b. 1T/kg c. 0.17/kg d. 10J/kg

Options :
1.a
2.b
3.C
4.d

Question Number : 23 Question Id : 7715134638 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Irad is equal to....

a. 0.01Tkg b. 1kg c. 0.17kg d. L0J/kg

Options :
1.a
2.b
3.c
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4.d

Question Number : 24 Question Id : 7715134639 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

19 Poikd [P &1 CT Wi # Rafiféa wwia g 2

A hardened beam has the following effect on the CT image?

a. Iy URdaH A8l/No change
b. W& Uiy & WY <@ Wiofda/Brighter image with poorer contrast

c. @ U & Y 3@ Widfdd/Darker image with better contrast
d. &9 fqwle & Wy i@ Wiofda/Darker image with poorer contrast

Options :
1.a
2.b
3.c
4.d

Question Number : 24 Question Id : 7715134639 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U6 PoiNd [X0ge &l CT Ufes § Fofidd o9eE g &l
A hardened beam has the following effect on the CT image?

a. Iy URdaH #al/No change
b. W& Uiy & WY dw Wiolda/Brighter image with poorer contrast

c. @ U & Y 3@ Widfdd/Darker image with better contrast
d. &9 fqwle & Wy i@ Wiofda/Darker image with poorer contrast

Options :
1.a
2.b
3.c
4.d

Question Number : 25 Question Id : 7715134640 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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Ife &/ o U JaRH TG 0.808, df ‘b @1 Ak 4 ol ™ e Y dar W IFae
If the coefficient of restitution is 0.80 for tke action, to what height will the ball dropped from a
height of *h’, rise on rebound?

a. h b. 0.64h ¢. 0.81h d. 0.5h

Options:
1.a
2.b
3.C
4.d

Question Number : 25 Question Id : 7715134640 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fe PM & foU TOaRE TG 0.808, A b’ 3 $UE ¥ Bal T G Y S8 W ITae
If the coefficient of restitution is 0.80 for tke action, to what height will the ball dropped from a
height of *h’, rise on rebound?

a. h b. 0.64 h ¢. 0.81h d. 0.5h

Options :
1.a
2.b
3.C
4.d

Question Number : 26 Question Id : 7715134641 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

$S 7 IR PG WRW (IGC) .......... SR I
Inter granular corrosion (IGC) in SS will happen due to;

3o ®Ia4 39/High carbon content
JAd YA/ Elevated temperatures
PIFTH 3fa&A/ Chromium depletion
Judad T/ Al of the above

Options :

e f oo™

1.a
2.b
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3.C
4.d

Question Number : 26 Question Id : 7715134641 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

$S 7 IR PG WRW (IGC) .......... SR I
Inter granular corrosion (IGC) in SS will happen due to;

3o ®Ia4 39/High carbon content
JAd YA/ Elevated temperatures
PIFTH 3fa&A/ Chromium depletion
Judad T/ Al of the above

Options :

e f oo™

1.a
2.b
3.c
4.d

Question Number : 27 Question Id : 7715134642 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TOFD 0% &1 f4gd ............ & e R AR &

The principle of TOFD technique is based on the evaluation of;

a. U4 fifd & Wy Rl @1 fdqdH/Diffraction of signals with back wall
b. %o Tew U el @1 fadd+/Diffraction of signals from the crack edges
c. o H fgal &1 faddH/Diffraction of signals all along the crack

d. $® W WM @& &0/ Ultrasonic wave attenuation at crack

Options:
1.a
2.b
3.c
4.d

Question Number : 27 Question Id : 7715134642 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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TOFD ddHid &1 figid ............ & qelied R ARG 2

The principle of TOFD technique is based on the evaluation of;

a. U4 T & Oy Rl &1 faddH/Diffraction of signals with back wall
b. ® Uga ¥ Rl @1 fdadq/Diffraction of signals from the crack edges
c. oo ¥ fmal &1 faddH/Diffraction of signals all along the crack

d. %@ W WYA T &UH/ Ultrasonic wave attenuation at crack

Options:
1.a
2.b
3.C
4.d

Question Number : 28 Question Id : 7715134643 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

P-T 3G R @ gl Ja-dmg0 e 8, ...o...... Healdl o

The line on a P-T diagram where the Joule-Thomson coefficient is zero is known as:

a. oePHU 9/ The inversion curve.
b. ¥Jfd @/ The saturation curve.
c. ®ifd® §AAY Tsh/The critical isotherm.
d. WHUCIUS &1/ The isentropic line.
Options :
1.a
2.b
3.C
4.d

Question Number : 28 Question Id : 7715134643 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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P-T 3RE W 3l & Ja-dH90 T0F FF &,y .evennnn.. Fead ¢

The line on a P-T diagram where the Joule-Thomson coefficient is zero is known as:

a. OfohHU T/ The inversion curve.
b. Ydf 9%/ The saturation curve.

c. ifd® IO T/ The critical isotherm.
d. WHUIUS &1/ The isentropic line.

Options :
1.a
2.b
3.c
4.d

Question Number : 29 Question Id : 7715134644 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fefored Yeammm Wi 4, YqEe & WFe e @ 39 yer FulRa fea o 9o g

In digital radiography testing, the spatial resolution of detector can be determined as a....

a. SOIHY 9t & U 49 UiaRd & TIgad § 9 S gl @i fom iR gegm
ol T

dimension of the smallest feature that can be resolved at a modulation of twenty
percent with geometric magnification

b. T MEH & fo 99 UREd & WS ¥ Wed B 9k o o Y g
ol 9b

dimension of the smallest feature that can be resolved at a modulation of twenty
percent without geometric magnification.
c. AdBGH/BothA&B

d. SW& ¥ ¥ T T8I/ None of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 29 Question Id : 7715134644 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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fefoen Yeumme! W 4, 9o @ W e 91 39 1R MG o of 9@ ¢

In digital radiography testing, the spatial resolution of detector can be determined as a....

a. SO SMEEH & U d UfoR & Age H Ued s gia @ fom Rl e
ol §h

dimension of the smallest feature that can be resolved at a modulation of twenty
percent with geometric magnification

b, T @ & fo §9 UREd & Wged § Wl B el o) fom Y gasm
ol 9

dimension of the smallest feature that can be resolved at a modulation of twenty
percent without geometric magnification.
c. AdBGH/BothA&B

d. JWE # ¥ D5 I/ None of the above
Options :
1.a
2.b
3.C
4.d

Question Number : 30 Question Id : 7715134645 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ARG 2 Tl Plale-60 Hd H ¥ 2 Bie ol gl R fafexw digar fdadl g2 Co-60 Wi
& 0 7F® W & = | Be ¥ 14.0 R/A/Ci

What is the radiation intensity at a distance of 2 feet from an uncollimated 2 Curie Cobalt-60
source? Standard dose rate for a Co-60 source =14.0 R/hr/Ci at 1 foot.

a. TOR/hr b. 7R/hr c. 14R/hr d. L4R/Nr
Options :
1.a
2.b
3.c
4.d

Question Number : 30 Question Id : 7715134645 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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amiaRd 2 #Gf diale-60 W § T 2 Wie & g8 W AR doa fa 82 Co-60 F
& U 7F® "6 & = | B¢ § 14.0 R/A/Ci

What is the radiation intensity at a distance of 2 feet from an uncollimated 2 Curie Cobalt-60
source? Standard dose rate for a Co-60 source =14.0 R/hr/Ci at 1 foot.

a. TOR/hr b. TR/hr c. 14R/hr d. 14R/Mr
Options :
1.a
2.b
3.c
4.d

Question Number : 31 Question Id : 7715134646 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

s . ... .. @ U Wgad B

Super conductors are used for;

Yed Jedid & SdIG/Generating strong magnetic fields

yed @R dg4d &7 MG/ Generating strong electrostatic fields
49P1g &7 Had WH JOR $=/For creating magnetic field free space
d. §59g DI U TYddh/Bubble chamber particle detectors

=M™

2

Options :
1.a
2.b
3.C
4.d

Question Number : 31 Question Id : 7715134646 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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s . ... .. @ U Wgad B

Super conductors are used for;

a. Udd J991Y &7 JdIGT/Generating strong magnetic fields

b. Usd R dgd &7 JUIGH/Generating strong electrostatic fields

c. Y9Pg &F Had WH JUR &/For creating magnetic field free space
d. §c9g DI U TYddh/Bubble chamber particle detectors

Options :
1.a
2.b
3.C
4.d

Question Number : 32 Question Id : 7715134647 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

In a throttling process for a real fluid:

a. Ul f&R I 8/Enthalpy remains constant,
b. T<d fR @l §/Entropy remains constant.
c. fidR@ ol R Wl &/Internal energy remains constant.
d. dUHH &R I§dl §/Temperature remains constant.
Options :
1.a
2.b
3.¢
4.d

Question Number : 32 Question Id : 7715134647 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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In a throttling process for a real fluid:

a. Wl RR Wl 8/Enthalpy remains constant.

b. T=ml f@R Igdl §/Entropy remains constant.

c. HidR@® Hul @R Wdl 8/Internal energy remains constant.
d. dUHM &R I§dl §/Temperature remains constant.

Options :
1.a
2.b
3.C
4.d

Question Number : 33 Question Id : 7715134648 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T dbd, WERE @1 R TEE € 390 ReRw e ... ... ®5d &

The determination of whether indications are relevant or non-relevant is known as...

a. Hedid/Evaluation b. A/ Qualification
c. [de/Interpretation d. WiPfd/Acceptance
Options :
1.a
2.b
3.c
4.d

Question Number : 33 Question Id : 7715134648 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

1 Yod, TRT® 71 R AT & 396 MeRw @ L. Fed &

The determination of whether indications are relevant or non-relevant is known as...

a. Heid-/Evaluation b. @I/ Qualification
c. e/ Interpretation d. WH(d/Acceptance
Options :

1.a
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2.b
3.C
4.d

Question Number : 34 Question Id : 7715134649 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fo redfr-Rfi dem ol ......... BEd ©

Vision under low light condition is known as.........

a. WIElU®/Scotopic b. HEI®/Mesopic
¢. WINAIMNS/ Stereopic d. BIeIfd /Photopic

Options :
1.a
2.b
3.c
4.d

Question Number : 34 Question Id : 7715134649 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

g yoe-Rf d e el ... BEd ©

Vision under low light condition is known as.........

a. Iciud/Scotopic b. HIUH/ Mesopic
c. WINAIMNG/ Stereopic d. Wi/ Photopic

Options :
1.a
2.b
3.C
4.d

Question Number : 35 Question Id : 7715134650 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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1 9 & U AUH-TTed! (T-s) @ ¥, @ & A1 @1 8. ...... ol WiE & &

In a temperature-entropy (T-s) diagram for a Rankine cycle, the area under the curve represents:

a. 9% ® GNH 6T T ™/ Work done during the cycle.
b. A @I 3dRd FWI/Heat transferred to the system.

c. fieH @1 Uil 31/ Entropy generation of the system.
d. 3fidR@ FHuil § UREH/Change in internal energy.

Options :
1.a
2.b
3.c
4.d

Question Number : 35 Question Id : 7715134650 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

1 9% & o AH-TTed (T-s) 9@ #, O & 1 &1 8. ... G T R

In a temperature-entropy (T-s) diagram for a Rankine cycle, the area under the curve represents:

a. T & CRH fbU1 T R/ Work done during the cycle.
b. RReH @ aRd FWI/Heat transferred to the system.

c. fen @1 Ul 31/ Entropy generation of the system.
d. 3fiaR@ Fuil H GREH/Change in internal energy.

Options :
1.a
2.b
3.C
4.d

Question Number : 36 Question Id : 7715134651 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ol &1 gRa, o g I T Py A @ ... Ped §

The amount of distance in which the object is still in focus is known as....

a. I®HY TS/ Depth of focus b. & ®! Texls/Depth of field
c. & RS/ Vision depth d. € @I s /Depth of vision
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Options:
1.a
2.b
3.c
4.d

Question Number : 36 Question Id : 7715134651 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ol &1 uRam, ford o off o wiew | § @

The amount of distance in which the object is still in focus is known as....

a. WIBY g5/ Depth of focus b. &7 @1 TS/ Depth of field

c. & 83/ Vision depth d. € ®! TeUs/Depth of vision
Options:
1.a
2.b
3.c
4.d

Question Number : 37 Question Id : 7715134652 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

foT WaididgH G2 $qE@ & WY AT g2 il R R T R Fefen T
et e e Gk i 1 M 2 e 1 2 R Bed &,
The ratio of the neutron reaction rate measured with a given bare neutron detector to the reaction

rate measured with an identical neutron detector enclosed by a particular cadmium cover is
known as;

2. BEHEA U/ Cadmium ratio
b. R ¥ 9 U/ Signal to noise ratio

c. FHIARA MU/ Collimator ratio
d. fsha SFUIG/ Activation ratio

Options :
1.a
2.b
3.c
4.d
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Question Number : 37 Question Id : 7715134652 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

RY Wedaiagh T W@ & 9 A g o @ IR R S o
T 9 T EH TEe O A T AT X e B L. aed B
The ratio of the neutron reaction rate measured with a given bare neutron detector to the reaction

rate measured with an identical neutron detector enclosed by a particular cadmium cover is
known as;

. &EHTH 37U/ Cadmium ratio
. T U 39 3R/ Signal to noise ratio

THiANA 34U/ Collimator ratio
. WYV 01/ Activation ratio

P~V I~ -}

Options :
1.a
2.b
3.C
4.d

Question Number : 38 Question Id : 7715134653 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fofafed # € oH-1 ufsa oy § 30 TRERT o 8o

Which of the following process leads to grain refinement in the metal?

a. Ydd/Casting b. 9/ Welding
c. TIu/Forging d. 3 ¥ ¥ BI5 7/ None of the above
Options :
1.a
2.b
3.c
4.d

Question Number : 38 Question Id : 7715134653 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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i 4 ¥ oF-W b aig § B TRERT Sl g

Which of the following process leads to grain refinement in the metal?

a. ¥dd/Casting b. dee/Welding
c. Thlu/Forging d. SWad # ¥ @3 T8I/ None of the above
Options :
1.a
2.b
3.c
4.d

Question Number : 39 Question Id : 7715134654 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U6 fed U1 H, Qi fdg 998 o ol O #9E ......e .l W

In a crystal structure, possible point groups and space groups are ..... and ..... respectively.

a. 230Td/and 32
b. 32Td/and230
c. 64 Td/and 230
d. 2307d/and 64

Options :
1.a
2.b
3.c
4.d

Question Number : 39 Question Id : 7715134654 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U5 fobted W |, Yy fdg W8 O i I O ... W....... gl

In a crystal structure, possible point groups and space groups are ..... and ..... respectively.

230 Td/and 32
32 Td/and230
64 Td/and 230
230 Td/and 64

/e o = o
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Options:

1.a
2.b

3.C

4.d

GET IT ON
Google Play

Question Number : 40 Question Id : 7715134655 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

fFofafed Y TR & SHis ¥ o W e daH g

Which of the following type of diodes is having a metal and semiconductor junction?

1.a
2.b
3.c
4.d

a. UM SIS/ Tunneling diode

b. icd SIS/ Schottky diode
¢. PIN SMIS/PIN diode
d. R SWIS/Zener diode

Options :

Question Number : 40 Question Id : 7715134655 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

fFofafed 50 TeR & S/l | Ui W e SwH 8e

Which of the following type of diodes is having a metal and semiconductor junction?

a
b.
c
d

TUH SAIS/ Tunneling diode
Tled! SRS/ Schottky diode
PIN SHIS/PIN diode

. W SIS/ Zener diode

Options :

1.a
2.b
3.c
4.d
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Question Number : 41 Question Id : 7715134656 Question Type : MCQ Option >nurriing : NO
Correct Marks : 1 Wrong Marks : 0.33000001311302185

- Fofaied e Tued &1 A0 e T @ AFe 7 TeT 9 T i o 9o
Which of the following material property cannot be measured from a standard tensile testing of
a material specimen?

YR AM®/ Elastic modulus
TRIHG 4/ Yield strength

T YL/ Ultimate strength

d. A egdl/Fracture toughness

& =

£

Options :
1.a
2.b
3.c
4.d

Question Number : 41 Question Id : 7715134656 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

- Fofiied e Tued &1 A e T @ AFe o WeT U T i o 9o
Which of the following material property cannot be measured from a standard tensile testing of
a material specimen?

UdRY AM®/ Elastic modulus
TRIHG qH )/ Yield strength

T Y/ Ultimate strength

d. WA eedl/Fracture toughness

g M

£

Options :
1.a
2.b
3.c
4.d

Question Number : 42 Question Id : 7715134657 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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yied & & AR wed ¥ 8 mw R o fufn pRa W W dgn gt e o
JUR ... Bl

The presence of detectable acoustic emission at a fixed predetermined sensitivity level at stress
levels below those previously applied.

. JUGHddl UHd/ Felicity effect

. JUYdddl SUrd/Felicity ratio
. &R WME/Kaizer effect

. icougadl WHId/ Anti felicity effect
Options :

o= T o B = =]

1.a
2.b
3.c
4.d

Question Number : 42 Question Id : 7715134657 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e W) @ A w0 ¥ 8@ WE AR @ R PRa W ) St 9t s @
Jurfd ...

The presence of detectable acoustic emission at a fixed predetermined sensitivity level at stress
levels below those previously applied.

. JUYEIdl G419/ Felicity effect

. JUGdddl SFUTd/ Felicity ratio
. o UHTG/Kaizer effect

. WiIUgdd UHI/ Anti felicity effect
Options :

= U o B = ]

1.a
2.b
3.c
4.d

Question Number : 43 Question Id : 7715134658 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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ne T G AU L 9 & T @l B W B g

Mid-wave infrared thermography uses......range of wavelengths.

a. 0.3umd/ to 0.5um
b. Around lpm

c. 1.5umd/ to 3um
d. 3um¥/ to Sum

Options:
1.a
2.b
3.C
4.d

Question Number : 43 Question Id : 7715134658 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Wel T EREd A O & 0 o @ W o gl

Mid-wave infrared thermography uses......range of wavelengths.

a. 0.3um3/ to 0.5um
b. Around lpum

¢. L5um3/ to3um
d. 3umd/ to Sum

Options :
1.a
2.b
3.C
4.d

Question Number : 44 Question Id : 7715134659 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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fofafed foog Fo1 IwER ufbar ®, wgt ° g 39 g &1 o1 o
Which of the following heat treatment process, job will be allowed to cool down in the furnace
itself?

a. WHHFSHU/Normalizing
b. 3T/ Annealing
¢. ¥HA/Quenching
d. ¢udl/Tempering
Options:
1.a
2.b
3.C
4.d

Question Number : 44 Question Id : 7715134659 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fofared oy $o1 SWER wibar H, Hgl # § &9 g1 &1 a1 iy -
Which of the following heat treatment process, job will be allowed to cool down in the furnace
itself?

a. WHMHFSU/Normalizing
b. 3T/ Annealing
c. ¥H/Quenching
d. ¢RI/ Tempering
Options :
1.a
2.b
3.C
4.d

Question Number : 45 Question Id : 7715134660 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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I B GRA 3 U5U &1 Yo U AdH @ a0, 9 3 Pordl & dH Y fe Fefiad
¥ Y 59 W SUER U @ AT o 99 6¢

In order to prevent steel pipe cracking upon quenching which of the following heat treatment
process can be adopted without reducing the hardness of the case;

a. BIENU/Carburising

b. ¢HHl/Tempering

c. WM/ Normalizing
d. HICWA/Martempering

Options:
1.a
2.b
3.c
4.d

Question Number : 45 Question Id : 7715134660 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

I & GRA 3 URY &I HoH U UG & Y, $Y &I HoRal @ dH bY 1 FHofkfad
T ¥ {59 IW1 TR Uihd @ R S 99dl 82

In order to prevent steel pipe cracking upon quenching which of the following heat treatment
process can be adopted without reducing the hardness of the case;

a. B/ Carburising

b. ¢/ Tempering

¢. VHHFESIU/Normalizing
d. HICHA/Martempering

Options :
1.a
2.b
3.C
4.d

Question Number : 46 Question Id : 7715134661 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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feforea fegmmet ......... 1 fffd wie e dgga! &1 Iw wXdl 8
Digital radiography employs flat panel detectors made of ..............

2. HARGY YA (a-Se) T HWE ¥U ¥ Huicd faRexwr @i fagqa omdw # uRafda
W 5, Y TG § f3fved vifdd & § 1@ o 99 &

amorphous selenium (a-Se) that indirectly converts incident radiation into electrical
charge which can then be read to form a digital image

b. HERGY YA (a-Se) T TGy TU Y 3MUdd faRex0r &1 fagqd 9% § uRdfda
ol 8, P §g # fefored wiofdd H o uel o I6dl B

amorphous selenium (a-Se) that directly converts incident radiation into electrical
charge which can then be read to form a digital image

c. ¥ARGY RATHH (a- Si) W e T ¥ 3ufad fokaxw @I fagga amdw & uRafda
6 ¢, W 9 | fafvreq ufdfda &9 § wel 1 9o &

amorphous Silicon (a-Si) that indirectly converts incident radiation into electrical
charge which can then be read to form a digital image

d. C 9D &H/BothC&D
Options :
1.a
2.b

3.cC
4.d

Question Number : 46 Question Id : 7715134661 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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feforea fegmmet ......... 1 fffd wie e dgga! &1 Iw wXdl 8
Digital radiography employs flat panel detectors made of ..............

2. HARGY YA (a-Se) T HWE ¥U ¥ Huicd faRexwr @i fagqa omdw # uRafda
W 5, Y TG § f3fved vifdd & § 1@ o 99 &

amorphous selenium (a-Se) that indirectly converts incident radiation into electrical
charge which can then be read to form a digital image

b. HERGY YA (a-Se) T TGy TU Y 3MUdd faRex0r &1 fagqd 9% § uRdfda
ol 8, P §g # fefored wiofdd H o uel o I6dl B

amorphous selenium (a-Se) that directly converts incident radiation into electrical
charge which can then be read to form a digital image

c. ¥ARGY RATHH (a- Si) W e T ¥ 3ufad fokaxw @I fagga amdw & uRafda
6 ¢, W 9 | fafvreq ufdfda &9 § wel 1 9o &

amorphous Silicon (a-Si) that indirectly converts incident radiation into electrical
charge which can then be read to form a digital image

d. C 3D GHi/BothC &D

Options :
1.a
2.b
3.c
4.d

Question Number : 47 Question Id : 7715134662 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

54 WaTH e H, Fofofed § 9 U oo & U Od vaTeH eRed §e

In liquid penetrant testing, pre-rinsing is essential for which of the following technique?

fdeia® e deb-iid/ Solvent wipe technique

a.

b. T Uy FRSIpid -k, Post emulsifiable hydrophilic technique

c. UMHHIUT Uy 9 NS dd-iid//Post emulsifiable water washable technique
d

. I T/ All of the above
Options :
1.a
2.b
3.¢

4.d
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Question Number : 47 Question Id : 7715134662 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

54 WaTH Wew H, Fyfafed § U o0 dede @ AU 9d TaTH HeRE §e

In liquid penetrant testing, pre-rinsing is essential for which of the following technique?

a. [dUM® Uiy dd-id/Solvent wipe technique

b. MG UY BRSIBih ddbHih/Post emulsifiable hydrophilic technique
c. UMHHIUT Uy 9 NS dd-iid//Post emulsifiable water washable technique
d. Iua T/ All of the above

Options :
1.a
2.b
3.¢
4.d

Question Number : 48 Question Id : 7715134663 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fraffed & ¥ M- 9 @, wioe o 3 7 W1 Yo, W A iowd o A A
A (0y) B Y Tl 52

Which of the following straight-line joins endurance limit (c.) on the stress amplitude axis and
yield strength (o) on the mean stress axis?

a. WIStd @I/ Soderberg line
b. EUdRT TSA @1/ Modified goodman line
c. T&R &W1/Gerber line

d. TSHH W/ Goodman line

Options :
1.a
2.b
3.c
4.d

Question Number : 48 Question Id : 7715134663 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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frfofed # ¥ oH-8 W @, ofoed omm i A W W) T We vfed o A dis
A (0y) B Y TSl 82

Which of the following straight-line joins endurance limit (c.) on the stress amplitude axis and
yield strength (6y:) on the mean stress axis?

. Wigts W/ Soderberg line
. ®UiaRd AT 1@/ Modified goodman line

. TR @/ Gerber line
. TH9 ¥I/Goodman line

Options :

[ TR | o ma

1.a
2.b
3.c
4.d

Question Number : 49 Question Id : 7715134664 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fofafed § T oH-u1 o iy gerd @ oig ¥ e I g2

Which of the following property makes the composite material different from metals?

a. Ulcs YU/ Yield strength b. T @I T0IH/Young’s modules
c. fdfry e/ Specific strength d. diei@uT/Elongation

Options :
1.a
2.b
3.c
4.d

Question Number : 49 Question Id : 7715134664 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

FofaRed § ¥ oH-u Tord iy e @ O ¥ e S g

Which of the following property makes the composite material different from metals?

a. Uics YU/ Yield strength b. T ®1 TS/ Young's modules
c. [dfy gmwd/ Specific strength d. dieiie3ul/Elongation
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Options:
1.a
2.b
3.c
4.d

Question Number : 50 Question Id : 7715134665 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

il FHAGS A & HER, UG U Aled HY0 B Yoaed & Ugd WA W a9 9 i
oo Wi §, o &g & aie Ueit uRadd @ URuTH 1 g

As per the Third Law of Thermodynamics states, if a propellant mixture is cooled as low as

possible towards absolute zero (0 K) before ignition, what would be the implication for the
enfropy change during the combustion?

a. Ut URadd #¥Han g/ The entropy change would be maximal.
b. Uth Rad M §FT/ The entropy change would be minimal.
c. Ul uRad" I B/ The entropy change would be zero.
d. Y& R %/Infm‘mation is insufficient
Options:
1.a
2.b
3.C
4.d

Question Number : 50 Question Id : 7715134665 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

i SRS H9H & HER, U 06 Hied WY0 S Feded & Ted WA 9 @@ Y wifd
foa oI 8, o ged & SRH e uRadd @1 uRUE g
As per the Third Law of Thermodynamics states, if a propellant mixture is cooled as low as

possible towards absolute zero (0 K) before ignition, what would be the implication for the
entropy change during the combustion?

. Uit URad 3f¥daH g/ The entropy change would be maximal.
. eIt uRkadq A g/ The entropy change would be minimal.

. el uRad I B/ /The entropy change would be zero.

. g W@ §/Information is insufficient

Options :

e O o
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1.a
2.b
3.c
4.d

Question Number : 51 Question Id : 7715134666 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

W e AP e & 8 ...

Film cooling in turbine blades primarily serves to:

. Ui GeT QYR 8/Improve isentropic efficiency.
T 9 U I 9gidl /Increase overall pressure ratio.
G Wd il qdeldl %/Enhance combustion stability.

. I8 Yd1 g P FeIw/Extend blade service life.

o o o oo

Options :
1.a
2.b
3.C
4.d

Question Number : 51 Question Id : 7715134666 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

el wie ¥ fhed i g w0 @ ...........

Film cooling in turbine blades primarily serves to:

a. HEYTIUl G& GURA §/Improve isentropic efficiency.
b. W G UG Pl Feldl &/Increase overall pressure ratio.

c. G871 W< B §gl o/Enhance combustion stability.
d. &g a1 g B TGIU/Extend blade service life.

Options :
1.a
2.b
3.c
4.d

Question Number : 52 Question Id : 7715134667 Question Type : MCQ Option Shuffling : No


https://applink.adda247.com/d/XhqWf9lSap
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Correct Marks : 1 Wrong Marks : 0.33000001311302185

e dRe & WY Y- dUH & UM SH 9% B 0N dRHa U UR@idd Yde Sud
&Y W BA B>

How would a hypothetical rocket engine using a Carnot cycle behave if exposed to the near-
absolute zero temperatures of deep space?

o

TG 100% FHI G&dl BT BT/ Achieve nearly 100% carnot efficiency.
b. 3wl WK Aicd Hi & G/ Lose all its propellant energy.
c. Tl B B AUAN Hd AR b GA § S
Combustion chamber temperature would equal the cold reservoir.
d. fafmp AT I ﬁ GIIET/ The specific impulse would become zero.

Options:
1.a
2.b
3.C
4.d

Question Number : 52 Question Id : 7715134667 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Ted ke & RY I TUAH & UN DH 9 B U Hedre U URiedd Adhe o
frg W T B

How would a hypothetical rocket engine using a Carnot cycle behave if exposed to the near-
absolute zero temperatures of deep space?

e

TG 100% DHI G&dl BRI DT/ Achieve nearly 100% caot efficiency.
b. 3w WK Aigd Hi G G/ Lose all its propellant energy.
c. @1 B 91 AU T AR F FAE g e
Combustion chamber temperature would equal the cold reservoir.
d. fafdmw T I E]( ST/ The specific impulse would become zero.

Options :
1.a
2.b
3.cC
4.d

Question Number : 53 Question Id : 7715134668 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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Ut & o0 U9 tFIES AG T ad § ... ...

A positive AG for a process implies:

2. ViohdT WIGRT # ©/The process is at equilibrium.

b. 3% fexm H wba WHid® 8/ The process is spontaneous in the forward direction.
c. o e # yihy sRaMIdd 8, cibd awlid fom f wdd 3

The process is non-spontaneous in the forward direction but spontaneous in the reverse
direction.

d. AH U9 AS $HED %‘/ﬂH and AS both are positive.

Options:
1.a
2.b
3.C
4.d

Question Number : 53 Question Id : 7715134668 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Ul & U U IS AG BT Tl § fo. ... ...,

A positive AG for a process implies:

2. Ui TEIGRT H &/The process is at equilibrium.
b. o fexn # wid wWMfad §/The process is spontaneous in the forward direction.
c. o fexn # yibw eRaMIas §, cibd fawia o & wMldd 2

The process is non-spontaneous in the forward direction but spontaneous in the reverse
direction.

d. AH Ud AS ¥ §/AH and AS both are positive.

Options :
1.a
2.b
3.C
4.d

Question Number : 54 Question Id : 7715134669 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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An NDT instrument which separates different mass to charge ratio and measuring the respective
lon currents is;

a. G Dé/Tonization chamber

b. oM WaTHATI/Mass spectrometer

c. TR R PN/ Geiger muller counter
d. GAFUIG® BI5eX/Proportional counter

Options :
1.a
2.b
3.C
4.d

Question Number : 54 Question Id : 7715134669 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T TSI JUU & 9 U U4 Uaftd oH R B A B o o e gomH &l
A B G, ....... g

An NDT instrument which separates different mass to charge ratio and measuring the respective
lon currents is;

a. HE1 D4/ Ionization chamber

b. oA WA/ Mass spectrometer

¢. TR W PN/ Geiger muller counter
d. HFUd® PN/ Proportional counter

Options :
1.a
2.b
3.c
4.d

Question Number : 55 Question Id : 7715134670 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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TqH TS o o fieqd deer U WOTEl, A AR o1 ol & 4 @l fayg
¢ U U TRl @O, .. 8

Minimum depth beyond which an electromagnetic examination system can no longer reliably
detect a further increase in specimen thickness is...

a. A4 @I S Texls/Standard depth of penetration
b. &0 @ §Hl e /Effective depth of attenuation

c. &UH B IS TFERﬁf Standard depth of attenuation
d. JqdYd @1 YMMdl TERTs/Effective depth of penetration

Options :
1.a
2.b
3.c
4.d

Question Number : 55 Question Id : 7715134670 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T TS ot 3l f9ggd Jed Wi Yo, T Hies @ o §1 gl Bl Ay
¢ T udl T qm Wbl .. g

Minimum depth beyond which an electromagnetic examination system can no longer reliably
detect a further increase in specimen thickness is. ..

3dd%H @I HMS Tedls/Standard depth of penetration
. &I 1 YH TeXR/Effective depth of attenuation

[==]

c. &IV @ TS TeWs/Standard depth of attenuation
d. JqdYd @1 YMMdl TERTs/Effective depth of penetration
Options :
1.a
2.b
3.c
4.d

Question Number : 56 Question Id : 7715134671 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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T W # 1@ ¥ 5= e 1, fiq 9 T 7 9@ weRid et 81 % 9 el
5] g ....... &
A metal exhibits a high value of elongation in a tensile test but low ultimate tensile strength. This
indicates the metal is:

a. YR Ud U&d/Brittle and strong b. T4 Td &M0T/Ductile and weak
c. HR T &/ Brittle and weak d. @9 Td W§d/Ductile and strong
Options :
1.a
2.b
3.C
4.d

Question Number : 56 Question Id : 7715134671 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T RIgu H 16 4] I o0 AH, fhg FE T T 90 UeiRid Bl 81 98 Yiad ol
¢ b g ....... [
A metal exhibits a high value of elongation in a tensile test but low ultimate tensile strength. This
indicates the metal is:

a. YR Ud Uqd/Brittle and strong b. T4 T4 &M0T/Ductile and weak
c. HTR U4 &/ Brittle and weak d. 39 Ud Ued/Ductile and strong
Options :
1.a
2.b
3.C
4.d

Question Number : 57 Question Id : 7715134672 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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SIS TS P TdS = du+PAV AH| AFqdq Uay & fER W, FEkiEd § @ oM
Tl 8

Consider the thermodynamic identity: TdS = du + PdV. Based on Maxwell's relations,
which of the following is correct?

a. (0S/0V)r=PIT b. (6S/cP)r=-(GV/eT)p
c. (0S/duyr=T d. (GS/EPyy=(0V/ET)p
Options :
1.a
2.b
3.C
4.d

Question Number : 57 Question Id : 7715134672 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

SHIGS TEHD DI TdS = du+ PV AH| #ada ¥ay & &R |, Ffdied § @ $H
Tl 82

Consider the thermodynamic identity: TdS = du + PdV. Based on Maxwell's relations,
which of the following is correct?

a. (0S/OV)r=PIT b. (6S/6P)r=-(6V/ET)p
c. (0S/ouyr=T d. (6S/6P)yy=(0V/OT)p
Options :
1.a
2.b
3.c
4.d

Question Number : 58 Question Id : 7715134673 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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W o1y Yo T e & RH, e wadd-gld 3 ¥ eie fRE dE o gl
T8 GWac:....... & WD ¢

During a tensile test on a metal sample, a sudden drop in the engineering stress-strain curve is
observed. This is most likely indicative of:

a. UG &1 3 Wva YA § UEHI/ The material reaching its vield strength

b. UeH AEGEH (AT Y TeRAl oM/ The material undergoing necking
c. VR a0 &1 A/ The start of elastic deformation

d. UeH @ PO dEell 31 UR @Rl §a/Exceeding the material's hardness threshold

Options :
1.a
2.b
3.C
4.d

Question Number : 58 Question Id : 7715134673 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

W U1g 90a # & e & oRF, eI Hode-fdgid 9 H Heee FRa ol ol
78 44dd:. ...... @ 49 &

During a tensile test on a metal sample, a sudden drop in the engineering stress-strain curve is
observed. This is most likely indicative of;

a. UeH @1 oU Wiy YA # Uga/ The material reaching its yield strength

b. UGH HEHYH (fdbT) U TeRAl g3/ The material undergoing necking
c. WURY fa¥UU @1 3R/ The start of elastic deformation

d. e §1 $ORE coal 31 UR Pl §s/Exceeding the material's hardness threshold

Options :
1.a
2.b
3.c
4.d

Question Number : 59 Question Id : 7715134674 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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o dfed fog, ...l ¥ fow ey wade & ®U d i@ 9w e o #

Side-drilled holes are frequently used as reference reflectors for:

a. HUEUU 1 & U gl-omam e
Distance-amplitude calibration for shear waves.
b. &F-3H G/ Area-amplitude calibration.
c. W I Hiery @A/ Thickness calibration of plate.
d. Jugg e &1 YR B/ Determining near-surface solutions.

Options :
1.a
2.b
3.c
4.d

Question Number : 59 Question Id : 7715134674 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

o Sfed B, ...l ¥ o F8Y Wade & ®0 § R Swi e o ¢

Side-drilled holes are frequently used as reference reflectors for:

a. HUEU 1 & U gl-omm e
Distance-amplitude calibration for shear waves.
b. &7F-3mH MDA/ Area-amplitude calibration.
c. & @I Hlely 3=/ Thickness calibration of plate.
d. IUUg Al & FHYURW S/ Determining near-surface solutions.

Options :
1.a
2.b
3.c
4.d

Question Number : 60 Question Id : 7715134675 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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JSegmmet wdeu F ufafde smupar .......... ¥ ifvd &

Image unsharpness in radiography testing is linked to:

a. did ¥ fied gdi/Source to film distance
b. % ¥ fed gdl/Object to film distance
c. Wid HPHR/Source size
d. Suda Hi/All of the above

Options :

1.a

2.b

3.C

4.d

Question Number : 60 Question Id : 7715134675 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Yeammet vdeur § ufofde smopar ... ... .. ¥ Wfea &

Image unsharpness in radiography testing is linked to:

a. Wid U fised gdi/Source to film distance
b. % U fe gdl/Object to film distance
c. Wid PR/ Source size
d. Suddad §Hi/All of the above

Options :

1.a

2.b

3.C

4.d

Aptitude Test
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Partl

Question Number : 61 Question Id : 7715134676 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

U § g g4 DadcR dd %I1/All the trees in the park are flowering trees.
U & P gy gﬁ@g &/Some of the trees in the park are dogwoods.

U & 9ft _S}ff@ BofeR géf 21/All dogwoods in the park are flowering trees.
e Tl & < YT Wl §, A A BT L. gl

If the first two statements are true, the third statement is

(a) Wel/True

(b) Tcid/False

(c) 39/ Uncertain

(d) JWd Tl/All of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 61 Question Id : 7715134676 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0
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U | o g4 Do 44 %1/All the trees in the park are flowering trees.
h & DS g TS'LI%@ &/Some of the trees in the park are dogwoods.

T & af gﬁ@ BaeR g4 % 1/All dogwoods in the park are flowering trees.
Ui Ugdl & o S W g, o A B L........ gl

If the first two statements are true, the third statement is

(a) Tol/True

(b) TIeld/False

(c) H9d/Uncertain

(d) Sudd THAl of the above

Options :
1.a
2.b
3.C
4.d

Question Number : 62 Question Id : 7715134677 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

fo7 fow @ ¥ ddfim &

To which group does the figure belong?

Group A
Group B \;""‘x

(a) A
(b) B
(c) B A 9 B/Neither AnorB
(d) STddd Fi/All of the above

Options :
1.a
2.b
3.c
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4.d

Question Number : 62 Question Id : 7715134677 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

fem g o ¥ Weftm &

To which group does the figure belong?

Group A
Group B

(a) A
(b) B
(c) 981 A T B /Neither Anor B
(d) ITddd T/All of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 63 Question Id : 7715134678 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

i
¥ We A gEHEA Bt W g H G
o T 8 @ WM 31 P 7 Q 3T, 9% W9 @ 4, e § qu ey
@1 THRA DI gad adl 82
The average life expectancy for the United States population as a whole is 73.9 years, but children
born in Hawaii will live an average of 77 years, and those born in Louisiana, 71.7 years. If a
newlywed couple from Louisiana were to begin their family in Hawaii, therefore, their children
would be expected to live longer than would be the case if the family remained in Louisiana.
Which of the following, if true, would most seriously weaken the conclusion drawn in the passage?

(a) o1 du GifErelE fig el AFd b gam § e qedH aidEl & gd oM
@ ToI ol
Insurance company statisticians do not believe that moving to Hawaii will significantly
lengthen the average Louisianan's life.

(b) UM & I YO GNRIT &R §U 0 od o WD DI Td ol
iE‘{I,’T he governor of Louisiana has falsely alleged that statistics for his state are inaccurate.

() TIW B GOHF SR H Ued CHig WE|R HERE HURE SRUT & DR
IR %I!The longevity ascribed to Hawaii's current population is attributable mostly to
genetically determined factors.

(d) Th oo R &1 a9 ofek, 77 o @ e o F1 oman e 8

Thirty percent of all Louisianans can expect to live longer than 77 years.

Options :
1.a
2.b
3.cC
4.d

GET IT ON
Google Play

Question Number : 63 Question Id : 7715134678 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

¥ Sis A FUEA B TR AW Wid @ &Y §, d 390 o= Bl
g ot g @ YiaT 31 FefefEd ® ¥ e, of 9S8 @, iR § oy et
B TR B gad BT o7

The average life expectancy for the United States population as a whole is 73.9 years, but children

:

born in Hawaii will live an average of 77 years, and those born in Louisiana, 71.7 years. If a
newlywed couple from Louisiana were to begin their family in Hawaii, therefore, their children
would be expected to live longer than would be the case if the family remained in Louisiana.
Which of the following, if true, would most seriously weaken the conclusion drawn in the passage?

(a) %mmﬁmmﬁmﬁmﬁmﬁmﬂmmﬁ%aﬂwm
T &l

Insurance company statisticians do not believe that moving to Hawaii will significantly
lengthen the average Louisianan's life.
(b) UM & I YO GNRIT &R §U 0 od o WD DI Td ol
iE‘{I,’T he governor of Louisiana has falsely alleged that statistics for his state are inaccurate.
() T B G9H RN H Wed GUlY WEw ARG FuRe SR § BRO
IR %I!The longevity ascribed to Hawaii's current population is attributable mostly to
genetically determined factors.

(d) Th oo R &1 a9 ofek, 77 o @ e o F1 oman e 8

Thirty percent of all Louisianans can expect to live longer than 77 years.

Options :
1.a
2.b
3.cC
4.d

GET IT ON
Google Play

Question Number : 64 Question Id : 7715134679 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0

COMBAT T ®I 3% GRMH a1 g BT TG B
Choose the word which best expresses the meaning of the word: COMBAT

(a) Conflict
(b) Quarrel
(c) Feud
(d) Fight

Options :
1.a
2.b
3.c
4.d


https://applink.adda247.com/d/XhqWf9lSap
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Question Number : 64 Question Id : 7715134679 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

COMBAT T ®I 3% GRMH a1 g BT TG B
Choose the word which best expresses the meaning of the word: COMBAT

(a) Conflict
(b) Quarrel
(c) Feud
(d) Fight

Options :
1.a
2.b
3.c
4.d

Question Number : 65 Question Id : 7715134680 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

Peds [t g9 & K, AUG TEUE TR 0 o1 o & foU ded @ o e
ficpd e 8 g1 oM 3 Rl |1 @

As a retail clerk, your manager asks you to perform an assignment you do not like doing. What
would you do in this situation?

(a) U YT B Y HEHEN 6 T TH AUS W Tl & aU G IR
healbeal

Inform your manager you do not like the assignment and ask for another.

(b) ¥ TEYE B HPRAPNK Gl U B Bayma|

Acknowledge your manager and perform the assignment.
(c) 3 Vet Bl Berl/der fd HuD daad WU § 7 9g HE AR (ot Bl G
& iy e/

Tell your manager you are feeling il and ask them to assign the task to someone else.

(d) 3 yavw Bl ARG Grl/el cifed S T BB

Acknowledge your manager but do not perform the assignment.

Options:
1.a
2.b
3.c
4.d

Question Number : 65 Question Id : 7715134680 Question Type : MCQ Option Shuffling : No


https://applink.adda247.com/d/XhqWf9lSap
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Correct Marks : 1 Wrong Marks : 0

Tean fofte 4 & A7, A0S VeUd ol T o o & U @ed € @ e
ficpa T¥e el 81 oM 39 R F ;= pdyBE

As a retail clerk, your manager asks you to perform an assignment you do not like doing. What
would you do in this situation?

(a) MU WEYF B YW HOHCN 5 o IH A0S W Tl & AUl g I
DER/eEl
Inform your manager you do not like the assignment and ask for another.

(b) ¥ VYT @ AP /el o P BB
Acknowledge your manager and perform the assignment.

() T VeuT B Fe/aen! G UG JE W6 § o T IR e @ O
¥ fou werll/@eti

Tell your manager you are feeling il and ask them to assign the task to someone else.

(d) 3 veed &l afdigia S/aM fdd B T BB

Acknowledge your manager but do not perform the assignment.

Options :
1.a
2.b
3.c
4.d

Question Number : 66 Question Id : 7715134681 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

NS ®F W 3 SUDT Ugal G § 9 U YR | bl U 5%
Ul O FHA S T W & U §6 T 7 Iuae 69t die) @1 9
@gd ol 9d 9F U & Gl & N dicd AHY Giell o, U JHPT TG
AT §¢HT Td Wdbe 951 W Gd gl W 9¢ @ §6, 9 oW UD 3-Hq Bl
SR G ® Y9 UG HOUh/HANH AT U A/ g qu T U Ed §
O ST TBY 1 e Sl TR &l g

It is your first day working in a high school administrative position, and the vice-principal has
shown you your desk and tells you to pick any available locker in the break room to store your
belongings. You choose the locker closest to the hreak room door since it is unoccupied and hang
up your purse and jacket. An hour later, while you are responding to an email, a teacher
approaches you and angrily asks why you took their locker. How would you respond?

(a) # I BE/BET 6 B Wrelt cleR B 95 B U1 AT U U g GE
d # g8 gag g/l i o T o AW I foreEar |
| would tell them that | chose an unoccupied locker, and they could look for another one.
| would advise the teacher to put their name on it in the future.

(b) # FUHEE B AN HEN/EET @ 309 H A W oRl
GGl

| would ignore the teacher and continue with my email.

(c) ¥ s enfue ¥ Se/del & 37 UYAREN 5 SUae U6 dieY @ 99
P & U Bl o1y T dg @ril U1l # 3% 9o e & R
APl I9Y DI dHal® ol o 3T VUERE U g B

I would tell the teacher that the vice-principal told me to pick an available locker, and the
one | chose was unoccupied. | would advise them to speak with the vice-principal if they
had an issue with it.

(d) # sremmue/iiel ¥ Bgm/@g & IU WUFEE 4 Sudd U6 oY &1 99
& & U dEr o qul 1 d¢ @l U § I Al AT SR
Fg/agh 6 # A GWE B ger g/l Ul 3T She @ e fear
1 TR/
| would tell the teacher that the vice-principal said to pick an available locker, and the one
| chose was unoccupied. | would apologize and tell the teacher that | would move my
belongings and ask them to show me an available locker.

Options:
1.a
2.b
3.c
4.d

GET IT ON
Google Play

Question Number : 66 Question Id : 7715134681 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

NS ®F W 3 SUDT Ugal G § 9 U YR | bl U 5%
Ul O FHA S T W & U §6 T 7 Iuae 69t die) @1 9
@gd ol 9d 9F U & Gl & N dicd AHY Giell o, U JHPT TG
AT §¢HT Td Wdbe 951 W Gd gl W 9¢ @ §6, 9 oW UD 3-Hq Bl
SR G ® Y9 UG HOUh/HANH AT U A/ g qu T U Ed §
O ST TBY 1 e Sl TR &l g

It is your first day working in a high school administrative position, and the vice-principal has
shown you your desk and tells you to pick any available locker in the break room to store your
belongings. You choose the locker closest to the hreak room door since it is unoccupied and hang
up your purse and jacket. An hour later, while you are responding to an email, a teacher
approaches you and angrily asks why you took their locker. How would you respond?

(a) # I BE/BET 6 B Wrelt cleR B 95 B U1 AT U U g GE
d # g8 gag g/l i o T o AW I foreEar |
| would tell them that | chose an unoccupied locker, and they could look for another one.
| would advise the teacher to put their name on it in the future.

(b) # FUHEE B AN HEN/EET @ 309 H A W oRl
GGl

| would ignore the teacher and continue with my email.

(c) ¥ s enfue ¥ Se/del & 37 UYAREN 5 SUae U6 dieY @ 99
P & U Bl o1y T dg @ril U1l # 3% 9o e & R
APl I9Y DI dHal® ol o 3T VUERE U g B

I would tell the teacher that the vice-principal told me to pick an available locker, and the
one | chose was unoccupied. | would advise them to speak with the vice-principal if they
had an issue with it.

(d) # sremmue/iiel ¥ Bgm/@g & IU WUFEE 4 Sudd U6 oY &1 99
& & U dEr o qul 1 d¢ @l U § I Al AT SR
Fg/agh 6 # A GWE B ger g/l Ul 3T She @ e fear
1 TR/
| would tell the teacher that the vice-principal said to pick an available locker, and the one
| chose was unoccupied. | would apologize and tell the teacher that | would move my
belongings and ask them to show me an available locker.

Options:
1.a
2.b
3.c
4.d

GET IT ON
Google Play

Question Number : 67 Question Id : 7715134682 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

TaH dEd ° %, @ 'ﬂ'&F .......... ¥ %IlPen is to poet as needle is to

(a) YMM/Thread
(b) dcd/button

(c) i:\tl?[IEF}Sewing
(d) <TYTailor

Options :
1.a
2.b
3.C
4.d

Question Number : 67 Question Id : 7715134682 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

&9 oEd 9 %, Gll HQF .......... 3 %I/Pen is to poet as needleis to

(a) HNM/Thread
(b) dcH/button

(c) mﬂlﬁlﬁewing
(d) <TTailor

Options :
1.a
2.b
3.cC
4.d

Question Number : 68 Question Id : 7715134683 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

DY/Statements:

g W, UEN] %fSome kings are queens.
g il ﬂﬂ? g,’AII queens are beautiful,

ﬁﬁﬁ}tonclusic}ns:
() T I Y& F/Al kings are beautiful.
(ii) oft T, e %}‘AII queens are kings

(a) HA [i}?lTEﬁ %;’Onl‘,f conclusion (i) follows
(b) HIH [ii)?IEp[ ?{Dnly conclusion (ii) follows
(c) 0 (i)Tm (i) Tl E’[Ei‘rher(i}or[ii} follows
(d) T8 ()T (i) T& 8/Neither (i) nor (i) follows

Options :


https://applink.adda247.com/d/XhqWf9lSap
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1.a
2.b
3.c
4.d

Question Number : 68 Question Id : 7715134683 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

DY/Statements:

g W, UEN] %fSome kings are queens.
g il ﬂﬂ? g,’AII queens are beautiful,

ﬁﬁﬁ}tonclusic}ns:
() T I Y& F/Al kings are beautiful.
(ii) oft T, e %}‘AII queens are kings

(a) HA [i}?lTEﬁ %;’Onl‘,f conclusion (i) follows
(b) HIH [ii)?IEp[ ?{Dnly conclusion (ii) follows
(c) 0 (i)Tm (i) Tl E’[Ei‘rher(i}or[ii} follows
(d) T8 ()T (i) T& 8/Neither (i) nor (i) follows

Options:
1.a
2.b
3.c
4.d

Question Number : 69 Question Id : 7715134684 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

T A T BR GGG (BRR §9) @ U § O W@ gl GHbA (B So) 60 mph B
Tid ¥ 99 W@ 7 Ue T @ Tl MU & did & gd uididd T & @ g, d@ @R
31 1 fee &

A car is behind a moving fire engine on a motorway. The fire engine is traveling at a speed of 60
mph. If the distance between the two moving vehicles is not changing, what is the car’s speed?

60 mph

L

! niph
distance
does not
fhanqe

(a) 80 mph
(b) 70 mph
(c) 60mph
(d) 50 mph
Options :
1.a
2.b
3.c

4.d

Question Number : 69 Question Id : 7715134684 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

T A 0@ 3R e (BRR 35H) & 09 § o I 5l SHdd (BRR 35) 60 mph B
A ¥ 99 @ gl A T & o Medl & did 31 gl WRaldd T 8 @ g, d R
GOl IRGTE

A car is behind a moving fire engine on a motorway. The fire engine is traveling at a speed of 60
mph. If the distance between the two moving vehicles is not changing, what is the car’s speed?

60 mph

—

7 nlph
distance
does not
fhdnqe

(a) 80 mph
(b) 70 mph
(c) 60mph
(d) 50 mph

Options :


https://applink.adda247.com/d/XhqWf9lSap
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1.a
2.b
3.c
4.d

Question Number : 70 Question Id : 7715134685 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

el ! Tferd fobd T | W g U ek sl T MR Tl 27

The scale is balanced. What is the weight of the block with the question mark?

< >4 >

2 51

-

@ 1lb
(b) 21b
(¢ 8lb
(d 101

Options:
1.a
2.b

3.cC
4.d

Question Number : 70 Question Id : 7715134685 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

W ol Udferd foa1 T g | Y g U e il ol UR fdal 82

The scale is balanced. What is the weight of the block with the question mark?

DT H 51 <

‘

(a) 1lb
(b) 2Ib
(c) &lb
(d 101b
Options :
1.a
2.b
3.c
4.d

Part II

Question Number : 71 Question Id : 7715134686 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal24

7

gl 8, 28, 116, 584,

The number comes after the series 8, 28, 116, 584, ...... -

(a) 3504
(b) 3507
(c) 3508
(d) 3509
Options :
1.a
2.b
3.c

4.d

GET IT ON
Google Play

Question Number : 71 Question Id : 7715134686 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gl 8, 28, 116, 584,

The number comes after the series 8, 28, 116, 584, ...... -

(a) 3504
(b) 3507
(c) 3508
(d) 3509
Options :
1.a
2.b
3.c

4.d

Question Number : 72 Question Id : 7715134687 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addai247

DI T 5 2 Bl Wi e
Which one will replace the question mark?
7 9 21 | 27
4 2 36 18
9 4 54 ?
{a) 18
(b) 24
(c) 36
(d) 58
Options :
1.a
2.b
3.c
4.d

GET IT ON
Google Play

Question Number : 72 Question Id : 7715134687 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

DI g 2 Bl wioafUad T

Which one will replace the question mark?
7 9 2l | &7
4 2 36 18
9 4 54 ?

{a) 18

(b) 24

(c) 36

(d) 58

Options:

1.a

2.b


https://applink.adda247.com/d/XhqWf9lSap
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3.C
4.d

Question Number : 73 Question Id : 7715134688 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fafied Ao 7 9 50 95 FLAGITIous @1 oo GoiF ad e @1 987 &

Choose one of the following options that means the opposite of the given word; FLAGITIOUS

{a) Innocent
(b) Vapid
(c) lgnorant

(d) Frivolous

Options :
1.a
2.b
3.C
4.d

Question Number : 73 Question Id : 7715134688 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fofofea fdac & 9 50 95 raGiious @1 fAudiaY oiF 91d Teq &1 997

Choose one of the following options that means the opposite of the given word; FLAGITIOUS

{a) Innocent
(b) Vapid

(c) lgnorant
(d) Frivolous

Options :
1.a
2.b
3.C
4.d

Question Number : 74 Question Id : 7715134689 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

o 5w U ¥ ddfia &2

To which group does the figure belong?

Group A |fEaaplf @ - | 2

GrDupB ..1 I_ILI a-.l

(a) A
(b) B
(c) d8l A 9 B/Neither AnorB
(d) Judad TH/All of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 74 Question Id : 7715134689 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

o 5w U ¥ ddfia &2

To which group does the figure belong?

Group A |fEaaplf @ - | 2

GrDupB ..1 I_ILI a-.l

(a) A
(b) B
(c) d8l A 9 B/Neither AnorB
(d) Judad TH/All of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 75 Question Id : 7715134690 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

H-1 oA 9ol & g7 Dl g2

Which figure completes the series?

N85

(a)

(b)

ol e

(c)

(d)

=

Options:
1.a
2.b
3.C
4.d

Question Number : 75 Question Id : 7715134690 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Adda247
FH-u o aoft B W SR &2

Which figure completes the series?

N85

(a)

(b)

(c)

(d)

e, =5 e

Options:
1.a
2.b
3.C
4.d

Descriptive

GET IT ON
Google Play
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Question Number : 76 Question Id : 7715134691 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

&R 9N W & Y Ud YA a0 g2 HaR O e H I UHE, SR YHE W 3
TG B URMT 1 HaR URT UE & el O SR @1 qui @)

What are the advantages and limitations of Eddy current testing? Define lift off effect, edge
effect and end effect in Eddy current testing. Explain any three applications of Eddy current
testing.

Question Number : 76 Question Id : 7715134691 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

YR 4R GHe0 & 14 T4 YA F g HaR 4RI GHEU H S YHE, SR WHIE 1 3
MG Pl ORI €1 HaR 4R WG & (B dF ST B U Bl

What are the advantages and limiftations of Eddy current testing? Define lift off effect, edge
effect and end effect in Eddy current testing. Explain any three applications of Eddy current
testing.

Question Number : 77 Question Id : 7715134692 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

150mg & M8 Td gRsioqe TErl @1 3 .. Wa Hieg & Ui U SR 9 diad
o @ for T B Y e verd @1 SURf W UG g9a @l Ul SH @1 SWE THer
TaHiD DH-U1 5> JoIaRdd @i & WY BEeN GG @ aUH B

150 mg of low-density hydrogenous material is packed inside a sealed stainless-steel bottle of
3 mm wall thickness. Which is the appropriate NDT technique to detect the presence and
packing density of the low-density material. Explain the working principle with neat sketches.


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

Question Number : 77 Question Id : 7715134692 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

150mg & MY o7 gRgloqy Wl @1 3 M., Wd el & dd o R S9N sk
o % fod T g1 9 o v 3 SuRl W Ui e9a @l gdl @H @1 Suged Tl
JaS $H-U 52 JoaRyd WA & 9 drEer fbgid &1 3

150 mg of low-density hydrogenous material is packed inside a sealed stainless-steel bottle of
3 mm wall thickness. Which is the appropriate NDT technique to detect the presence and
packing density of the low-density material. Explain the working principle with neat sketches.

Question Number : 78 Question Id : 7715134693 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

9@ BV W ¥ WH bl IR deed da-iel &1 U B MPL H &7 SgEal &1
SUIN g2 MPI H Ww 6% 06 UGR & &F Yo & a8 H aud

Explain any four magnetization techniques used in Magnetic Particle Inspection. What is the
use of field indicators in MPI? Explain any one type of field indicator used in MPI.

Question Number : 78 Question Id : 7715134693 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

49D B0 WEU ¥ Ww oGl IR 6dd da-iol @ U L MPL | &7 Ugdel o @
JW g2 MPI ¥ W& fodl 0@ UoR & &7 Iqgo & ar § aulH &)

Explain any four magnetization techniques used in Magnetic Particle Inspection. What is the
use of field indicators in MPI? Explain any one type of field indicator used in MPL.

Question Number : 79 Question Id : 7715134694 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

A 7 ygEd vide Ul SEe U WH @1 Y 3 g2 Heifie Jeamel ¥ wge
fofit v@R & foe dH-9 B WUl Wem 7 Ww = T e @ Py 1 e |
SR Tl

What are functions of image quality indicators and screens used in radiography? What are the
different types of films used in industrial radiography? Differentiate between high-speed film
and low speed film used in Radiography Testing.

Question Number : 79 Question Id : 7715134694 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

A 7 ygEd vide Ul SEe U WH @1 Y 3 g2 Heifie Jeamel ¥ wge
fofit v@R & foe dH-9 B WUl Wem 7 Ww = T e @ Py 1 e |
SR Tl

What are functions of image quality indicators and screens used in radiography? What are the
different types of films used in industrial radiography? Differentiate between high-speed film
and low speed film used in Radiography Testing.

Question Number : 80 Question Id : 7715134695 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

TR SgEuy Hficdl ud fefvea ufafde ggddys &1 auia &1

Explain Laser Shearography and Digital image correlation.

Question Number : 80 Question Id : 7715134695 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

TR Uy ficEl ud fefoed ufafds Teddys &1 vl &

Explain Laser Shearography and Digital image correlation.
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